
Tuesday – Using Brackets to Indicate Parenthesis

1. Match the underlined noun in each sentence to its parenthesis. 

2. Each of these sentences only has one bracket. Put a cross in the box where the 

missing bracket should go. 

3. Rewrite the sentence and include brackets to show parenthesis.

The rocket which had suffered damage to the engine during take off was not prepared 

to land safely.

1. (who loves a tidy 

house)

2. (which had been 

falling for over a 

week)

3. (which was to 

celebrate their 

birthday)

A. The climber (who was getting tired safely made his way to the top of the tall 

mountain.

B. Hasin who had been feeling unwell for a while) decided to visit the doctor.

A. The rain had caused the building to flood. 

B. The twins’ party was a huge success. 

C. My mum is always telling me to clean my bedroom.  
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